
Bulletin Date:

TTI Model Number: 018 194 019, 023, 024, 029, 061 Starting Serial Number:

 M12 FUEL™ COMPACT PERCUSSION DRILL VERSION A - A2018

M12 FPD
SERVICE PARTS DIAGRAM Dec-20

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 194 019, 023, 024, 029, 061 Starting Serial Number:

 M12 FUEL™ COMPACT PERCUSSION DRILL VERSION A - A2018

ITEM PART NUMBER PART DESCRIPTION QTY (PCS)

1 660134011 CHUCK SCREW 1

2 208193004 1/2" (13MM) KEYLESS CHUCK 1

2 208305007 1/2" (13MM) KEYLESS CHUCK (BLACK OXIDE) 1

3 662456001 M3 X 16MM SCREW 4

4 208194002 GEAR CASE ASSEMBLY 1

4a 661262001 M2.3 X 4.5MM SCREW 2

4b 696135001 SPEED SELECTOR LEVER 1

4c 564745001 O RING 1

5 204193004 SPEED SELECTOR SLIDE ASSEMBLY 1

6 208193006
ROTOR

018194019 ASIA, 023 KR, 024, 029 AZN VERSION 
1

6 208193012
ROTOR

018194061 ONLY JP VERSION
1

7 532431001 FORWARD/REVERSE SHUTTLE 1

8 208193002 ELECTRONICS ASSEMBLY 1

9 204194007
HOUSING KIT

018194019 ASIA, 023 KR, 024, 029 AZN VERSION
1

9 204194008
HOUSING KIT

018194061 ONLY JP VERSION
1

9a 564399001 SEALING PAD 1

9b 660570005 M3 X 14MM SCREW 6

9c 941121979
RATING LABEL

018194019 ASIA, 023 KR, 024, 029 AZN VERSION
1

9c 941050569
RATING LABEL

018194061 ONLY JP VERSION
1

9d 532493001 PLASTIC,LIGHT PIPE 1

9e - HOUSING COVER-RIGHT 1

9f - HOUSING SUPPORT LEFT 1

10 208194015 ELECTRONICES/HOUSING ASSEMBLY 1

11 661703002 M2.5 X 6MM SCREW 1

12 637996002 BELT CLIP 1

13 631542003 HOUSING CLIP 1

14 204193006 BLOW MOLDED CARRYING CASE 1

M12 FPD
SERVICE PARTS LIST Dec-20

www.milwaukeetool.asia



Bulletin Date:

TTI Model Number: 018 194 019, 023, 024, 029, 061 Starting Serial Number:

 M12 FUEL™ COMPACT PERCUSSION DRILL VERSION A - A2018

M12 FPD
SERVICE INSTRUCTION Dec-20

www.milwaukeetool.asia


